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Mathematics 9

Polynomials
Multiplying Polynomials by Monomials

A. Definitions

1. expression: algebra terms that are joined by addition or subtraction.

Szx—v‘fi\{ , XPr Ut 5x +9

2. polynomial: an algebra expression made up of many terms.

B. Multiplying Using Distributive Principle

Distributive Principle (Distributive Property) is a mathematical method for multiplying a
single term by multiple terms. 2
3k« 2x = bx
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2. Write an expression to represent the area of the following shapes.

a) 3x—1 b)

2x Sa—-3b+2c
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4. The length of a volleyball court is 5 m longer than twice the width of the court.

a) Write an expression to represent the area of the volleyball court.

% = Widh x A= (a%a)x
It +5 = Lengiy 2%+ =18x" + 5]

A - Lo

b) If the width of the court is 3 m, calculate the area of the volleyball court.

)( :m\c\“\ = 3m

Qxl + b X.
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A(q) + 5(3)

% +\D
= ]5%%/\?'

Assignment: Multiplying Polynomials by Monomials Assignment
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Name:

Multiplying Polynomials by Monomials Assignment

1. Multiply the following.

a) 2(4n +3) b) 5(5x-2)

c) —48p+1) d) 7lax? —3x+2)
e) 3y(2x-4y) ) 4nm(— 3m? — 6:1m)
g) 3n(8n-9) h) 2(3a% +6a+7)

i) ax(x? - 3x+5) i) 2m3m? +2mn -5)
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k) x2(x2 +3x—5) 1) —4.*:*1!(—3;??12 +2m]

m) 3ab(5a +4) n) %){1’(21}’ ~6x)
0) —2a’b(7ab-b) p) 8mn>(2mn—5)
q) 6x2}"2(3x2y2 - l] r) ?abc(?aaz —5('2)

2. Write and expression to represent the area of the following shapes.

a)  2m+5 b)

3m 10x2

3x2 —5x+1
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Answers

1. a) 8 +6
c) —32p—4
e) 6xy—12)2
Q) 24n’ -27n
i) 8x% —12x% +20x
k) xt a3t o sx?
m) 15a°b +12ab
0) —14a’h? +2a°h?

q) 183'4}’4 - 6x2y2

2. a) 6m> +15m>

b) 25x-10
d) 28x7 —2lx+14

f) — 12m°n —24m*n®

h) 6a” +12a+14
i) 6m® +4m*n—10
) 12m° —8m?>

n) xzyz —3x2_1-'

p) 16m*n> — 40mn>

r 2 la’be - 35abe’

b) 30x% - 50x + 10x?
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